


                COLONIAL ADMINSTRATION
(a) Give three reasons why Fredrick Lugard applied in indirect system administration in Northern Nigeria  				            				   	(3mks)
(b)Explain characteristics of direct rule in Zimbabwe 		             	         (12 mks)
[bookmark: _GoBack](a)State three privileges which were enjoyed by assimilated Africans in the four communes of Senegal.									           (3 mks)
(b)Explain six reasons why assimilation policy failed in the areas outside the communes. (12mks)
(a)State three privileges that were enjoyed by the assimilated Africans in the four commune (3mks)
  B.Why did the French system of assimilation fail in the areas outside the commune (12mks)
a) Give three reasons why the British used direct rule to administer Zimbabwe.	(3mks)
b) Explain six reasons for the failure of the policy of assimilation.		      (12mks)	
a) State THREE factors which favored the application of assimilation policy in Senegal.(3 marks)
b) Explain SIX factors which undermined the use of indirect rule in Southern Nigeria. (12 marks)
a) State five reasons why the British used direct rule in Zimbabwe				(5mks)                                                                
b) Explain five negative effects of direct rule in   Zimbabwe     			          (10mks)
a) Give three reasons why the British used direct rule to administer Zimbabwe.	          (3 mks)
(b) Explain six reasons why indirect rule was not successful in Southern Nigeria.	        (12mks) 
a) State five reasons why the British used direct rule in Zimbabwe.			(5 marks)
(b)  Explain five main features of British direct rule in Zimbabwe.			(10 marks)
a)	Name three communities in Senegal where the French system of administration was successfully applied 								         (3 mks)
	(b)	Explain six factors which undermined the application of the French policy of assimilation in West Africa 									         (12 mks)
             MAIN AREAS TO COVER IN THIS TOPIC.
· Indirect rule-used by British in Kenya and Nigeria 
· Direct rule-used by British in Zimbabwe 
· Assimilation- used by French in Senegal 
· Association –used by French.

        Indirect rule  	
· Reasons for indirect rule 
· Disadvantages of indirect rule
KSCE PAST PAPERS.
a) Describe the factors which facilitated the application of the French policy of assimilation in the four communes in Senegal.(3mks)
 b) Discuss the effects of the French policy of assimilation in Senegal (12 mks)
(a) What were the differences between the British policy of indirect rule and the French policy of assimilation? (3 mks)
(b) Explain why Fredrick Lugard used the policy of indirect rule to administer 
(a) Explain why the Ancient regime in France had become unpopular by 1789 (5 mks)
(b) Discuss the French system of government from 1871 (10 mks)
 a)Why did the British use direct rule in Zimbabwe	(3mks)
b) Explain the effects of British rule in Zimbabwe.	(12mks)
(a) Why did the British use indirect rule to administer Northern Nigeria
(b) Explain why the use of indirect rule in southern Nigeria was unsuccessful Northern Nigeria. (12 mks)
(a) State three privileges which were enjoyed by assimilated Africans in the four communes of Senegal (3 mks)
(b) Why did the French system of assimilation fail in the areas outside the communes?	           (12 mks)
(a)Give five reasons why the British used indirect rule to administer northern Nigeria.	          (5 mks)
(b)Explain five effects of the use of indirect rule by the British in Northern Nigeria.	          (10 mks)
a) Give three conditions which one had to fulfill in order to become a French Citizen in Senegal.(3 mks)
b) Explain six differences between the use of British indirect rule and the French assimilation
 Policy.											          (12 mks)






